
Nyttefunktioner
ui
�
ci
�
=
X

�il (t) ln c
i
l (t)

Walras ligevægt

�al (t)
Pea

Pl (t)
+ �bl (t)

Peb

Pl (t)
� eal (t)� ebl (t) = 0

for P = (1; 1; 1; 1) giver dette

�al (t)

 X
l;t

eal (t)

!
+ �bl (t)

 X
l;t

ebl (t)

!
� eal (t)� ebl (t) = 0

Indkomst overførsler
ri (t) =

�
�i1 (t) + �

i
2 (t)

�X
l;t

eil (t)� ei1 (t)� ei2 (t) 6= 0

Spot-markedsligevægt

�al (t)

�a1 (t) + �
a
2 (t)

p (t) � ea (t)
pl (t)

+
�bl (t)

�b1 (t) + �
b
2 (t)

p (t) � eb (t)
pl (t)

� eal (t)� ebl (t) = 0

Givet at 1 = p1 (1) 6= p2 (1) skal

p2 (t) =

�a2(t)

�a1(t)+�
a
2(t)
ea1 (t) +

�b2(t)

�b1(t)+�
b
2(t)
eb1 (1)

�a1(t)

�a1(t)+�
a
2(t)
ea1 (t) +

�b1(t)

�b1(t)+�
b
2(t)
eb1 (1)

)

�a2 (t)

�a1 (t) + �
a
2 (t)

ea1 (t) +
�b2 (t)

�b1 (t) + �
b
2 (t)

eb1 (1) 6=
�a1 (t)

�a1 (t) + �
a
2 (t)

ea1 (t) +
�b1 (t)

�b1 (t) + �
b
2 (t)

eb1 (1)

1



Betragt følgende økonomi�
e
�

�
=

� �
ea; eb

��
�a; �b

� � = � (((4; 2) ; (0; 2)) ; ((0; 2) ; (4; 2)))���
3
8
; 1
8

�
;
�
1
8
; 3
8

��
;
��

1
8
; 3
8

�
;
�
3
8
; 1
8

��� �
Walrasligevægt

(c; P ) =

��
((3; 1) ; (1; 3))
((1; 3) ; (3; 1))

�
; (1; 1; 1; 1)

�
Spotmarkedsligevægt

(c; p) =

�� ��
15
4
; 5
2

�
;
�
1
4
; 3
2

����
1
4
; 3
2

�
;
�
15
4
; 5
2

�� � ;�1; 1
2
; 1;
1

2

��

2


